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C EtthSth Class Assignment

LESSON NO 11 THE QURAN IS THE TRUTH

A:
Answer these Questions:

Qnot: Whe &
hen did the Holy Book began to be sent to our Holy Prophet?

Ans; him)
e The Holy Quran began to be revealed to the Prophet Muhammad (peace be upon
N he was 49 Years old. It started in the year 610 CE, during the month of Ramadan-

Qo 2:Where was the Messenger of Allah staying when the first verses of the Quran were
sent?

Ans:When the first verses of the Quran were revealed, the Prophet Muhammad (peace be

upon him) was staying in the Cave of Hira,

Qno 3:Which Surah began to be sent down first?

Ans:The first Surah (chapter) of the Quran to be revealed was Surah Al-Alag.
Qno:4:What was the name of the angel who brought the Word of Allah to our Prophet?

Ans:The name of the angel who brought the Word of Allah to the Prophet Muhammad
(peace be upon him) was Angel Jibril (known as Gabriel in English).

Qno:5:What is the Subject of the Quran? What is it's purpose?

Ans:The subject of the Quran is primarily to guide humanity towards the worship of Allah
and to show the right path for living a righteous life.

B: Besides Quran by what other names does the Holy Book call itself? (Do by yourself)

C: Match the following:

1: The Quran is the direct d:word of Allah

2: pondering over the Quran is a- a way to know Allah

3: Quran is a sacred Book b: we must respect it

4: Reciting Surah ikhlas once c: is equal to one third of

the Holy Book.

D:Fill in the Blanks:(Do by Yourself)



E: Say whether the following statements
1: True

2: False

3: False

4: False

5: True

6: True

ALLAH IS THE SUSTAINER OF THE WORLDS
LESSON NO 2
A: Fill in the blanks:(Do it yourself)

1: He is Allah, the one

2:There is nothing that could be

3: He has created __as well as

4: Allah has full knowledge of

5: He knows all that is on

6: it is alike for Allah whether we

7: Allah has neither nor.

B: Write sentences to answer these questions:

1: No, Allah doesn't have a beginning or an end.

2: No, There is no God besides Allah.

3: Allah has created the seven heavens.

4: No, we cannot find any errors in Allahs creation.

C: Complete the following:(Do it yourself)

D. Answer these questions.

A Z.4



aQno:1:What did the owner of the garden tell his friend one day?

Ans:The owner of the garden told hi

. s friend that his wealth and garden were the result of
his own efforts and that t would ne

ver perish
Qno 2:what reply did he make?

Ans:The friend of the garden owner replied with wisdom, reminding him that all blessings

come from Allah. He said, "Why did you not say, 'Masha'Allah’ (What Allah wills), if you
entered your garden?" (Quran 18:39).

Qno 3:Why did Allah send punishment down upon the man?

Ans:Allah sent punishment upon the man because he was arrogant and did not thank Allah
for the blessings He had given him.

Qno 4:The Quran is not a book of Stories. It is the Book of Guidance. What lesson does the
Holy Book want to teach through the incident of the two men?

Ans:The incident of the two men in the Quran teaches important lessons about humility,
gratitude, and the reliance on Allah.

LESSONNO: 4
ALLAH IS ALL-POWERFUL
Qno:1: How long does it take Allah to create Something?
Ans: In the Quran, Allah tells us that He creates everything by His command. When Allah
wants to create something, He simply says "Be" (in Arabic, "Kun") and it happens
immediately.

Qno:2:What kind of a King ruled during the time of Prophet Ibrahim?

Ans:During the time of Prophet Ibrahim (Abraham), the king who ruled was a tyrant named
Nimrod.

Qno:3:What did he think of himself?

Ans: King Nimrod thought of himself as a god. He was extremely arrogant and believed that
he had the power of life and death

Qno4: What did prophet Ibrahim tell him one day?

Ans: One day, Prophet Ibrahim (Abraham) told the King Nimrod that Allah is the one who
gives life and causes death, not him. He challenged Nimrod’s claim of being a god.

1.



Qnos: What Could the king at last decide to do?

- ing him into the fire.
Ans: At |ast, King Nimrod decided to punish prophet Ibrahim by throwing him i

B: Match the following:

1: Allah is the Doer d:of whatever he wills.

2: When Allah wants to a:no one can harm that person.
Save someone

3:Itis Allahwho  b:has raised the seven heavens.

4: Maryam was c:very conscious of Allah.

C: Fill in the blanks:(Do by yourself)

1:__is Allah in his Glory.

2: It is He who causes the to cover the

%It is___ who brings the heavy into

4: Such was__the_of Maryam.

-,%
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Class: 5*
Assignment: Mathematics
P eTimel
Q1. Write the given numbers In the place value chart.
Numbers C TL L TTh Th H T 0
8,73,45,678 8 7 3 4 5 6 7 8
76, 58,134 7 6 5 8 1 3 4
6,44,79,871 6 4 4 7 9 '8 7 1

(Do remalning parts yourself)

Q2. Insert commas to separate the periods In the following numbers.
a. 17356780 - 1,73,56,780 -

b.5534567 —  55,34,567

c. 9930567 -~ 99,30,567

(Do remaining parts yourself)

Q3. Write the following numerals in words.

a.79,86,590 - Seventy-niné lakh eighty-six thousand five hundred ninety.

b. 4,97,01,062 — Four crore ninety-seven lakh one thousand sixty-two.

c. 6,04,98,751 - Six crore four lakh ninety-eight thousand seven hundred fifty-one.

(Do remalning parts yourself)

Q4. Write the following as numerals.
a. Nine crore thirty-six lakh seventy-nine thousand eight hundred thirty-six - 9,36,79,836

b. Eighty-five lakh twenty-four thousand six hundred five = 85,24,605
(Do remaining parts yourself)

My Practice Time 2

Q1. Find the place value and face value of the underlined digits.

a. 98,74,265
Sol. Place value = 4000

Face value =4
c. 6,83,45,208

Sol. Place value = 200
Face value =2

e, 8,67, 89,651

P —




Sol, Place value = 6000000
Face value = 6
(Do remalning parts yourself)

Q2. Write the followlng numbars In expanded form.

a.4,15,68,130
Sol. 4,00,00,000 +10,00,000 +5,00,000 +60,000 +8,000 +100 +30

b. 3,78, 41, 629 49
Sol. 3,00,00,000 +70,00,000 +8,00,000 +40,000 +1,000 +600 +20

¢. 98,01,600
Sol. $0,00,000 +8,00,000 +1,000 +600
(Do remalning parts yourself)

Q3. Write the following In thelr standard form.
a. 0,00,000 + 6,00,000 + 80,000 + 9,000 + 200 + 10 + 7
Sol. 96,89,217

d. 4 x1,00,00,000 + 3 x 10,00,000 +1 x 10
Sol. 4,00,00,000 + 30,00,000 + 10
=4,30,00,010

(Do remalning parts yourself)

Q4. Which of the following options Is the correct expanded form of 5,16, 87,0947
(for options refer book)

Sol. Option ¢ Is the correct expanded form of 5,16, 87,094,

Q5. Which of the following o
+5,000 + 200 + 90 + 37
(for options refer book)

Spl. Optionals the correct expanded form of 8,00,00,000 + 7,00,000 + 60,000 + 5,000 + 200 + 90
+3 :

ptions s the correct standard form of 8,00,00,000 +7,00,000 + 60,000

Q6. Write the standard numeral and Its number name for each of the following.
a. 20,00,000 + 4,00,000 + 3,000+ 100+10+8

Sol. Standard numeral: 24,03,118
Number name: Twenty-four lakh three thousand one hundred elghteen

b. 60,00,000 + 5,00,000 + 3,000 + 800 + 10
Sol. Standard numeral: 65,03,810

Number name: Sixty-five lakh, three thousand, elght hundred ten
(Do the remaining parts yourself)



MyP c el

1,
Q1. Compare the following numbers and Insert >, < or =
a.91,23,451 < 6,79,86,010
C.51,84,321 > 46,64, 893
€.17,18,432 _= 17,1843)

(Do remaining parts yourself)

Q2. Write the following numbers in ascending order.
:. ;/'1,46,891; 8,17,68,940; 9,41,68,432; 89,76,843
©l.71,46,891; 89,76,843; 8,17,68,940; 9,41,68,432

lsJ. 3,49,86,241; 35,79,840; 4,16,890; 4,16,84,312
ol. 4,16,890; 35,79,840; 3,49,86,241; 4,16,84,312
(Do remalning parts yourself)

Q3. Write the following numbers In descending order.
a.4,95,86,312; 9,87,21,684; 5,19,48,316; 9,84,16,822
Sol. 9,87,21,684; 9,84,16,822; 5,19,48,3 16; 4,95,86,312

b. 51,68,432; 2,41,56,337; 9,84,37,416; 8,56,437
Sol. 9,84,37,416; 2,41,56,337; 51,68,432; 8,56,437
(Do remaining parts yourself)

My Practice Time 4

Q1. Form the greatest and smallest 7- or 8-digit number
a.6,7,810,3,4

Sol. Greatest: 8764310

Smallest: 1034678

d.s 1,046,352

Sol. Greatest: 96543210
Smallest: 10234569

(Do remaining parts yourself)

02. Write the successor of the following numbers.
a. 34,65,102 + 1 -» 34,65,103
b, 13,05,897 +1 > 13,05,898
¢, 98,23,654+1 - 98,23,655
(Do remaining parts yourself)

Q3. Write the predecessor of the following numbers.
a.76,92,103-1 - 76,92,102
b. 34,12,000-1 = 34,11,999

sign In the space provided.

using the given digits without repetition.




€ 27,12,390-1 4 27,12,389
(Do remalning parts yourself)

Q4. Form the required numper by repeating the given digis.
3. Smallest 7-dlglt number
.4,6,0, 3,2

Sol, Smallest 7-digit number = 2,00,00,346
(Do pat i yourself)

b. Greatest 8-digit number
12,1,0,5,7

Sol, Greatest 8-diglt number = 7,77,75,210

My Practice Time 5
QL. Round off the glven numbers to the nearest 10's, 100's, and 1000's,
.41, 389

Sol, Nearest 10's: 41,390
Nearest 100's; 41,400
Nearest 1,000': 41,000

b. 2,57, 486

Sol. Nearest 10's; 2,57,490
Nearest 100's; 2,57,500
Nearest 1,000's: 2,57,000

e. 85,19,476

Sol. Nearest 10's: 85,19,480
Nearest 100's: 85,19,500
Nearest 1,000's: 85,19,000 .

f 4,67,21,982

Sol. Nearest 10's: 4,67,21,980
Nearest 100's: 4,67,22,000
Nearest 1,000's: 4,67,22,000
(Do remaining parts yourself)

Q2. Round off the numbers to the nearest 10,000,
a. 81,56,743

Sol. Nearest 10,000's: 81,60,000

d. 2,51,17,867
Sol. Nearest 10,000's: 2,51,20,000

e 67,421
Sol. Nearest 10,000's; 70,000
(Do the remaining parts yourself)



Q3. Mr. Rajesh bought a car for %8,67,596. Round off th
; e cost of thecartot '
Sol, Nearest 10,000's: X8,70,000 ' rlothenesrest D

Q4. 1’:: rt‘:::;:mber of vehicles In four major cities of Japan Is 3,18,78,917. Round off this number to
a.100’s b.1,000's ¢.10,000’s
Sol. a. Nearest 100's: 3,18,78,920
b. Nearest 1,000's: 3,18,79,000
¢. Nearest 10,000's: 3,18,80,000

M ctice Time 6

Q1. Insert commas and write these numbers in words using International system of numeration.
a. 5014893 .
Sol. 5,014,893 — Five million fourteen thousand eight hundred ninety-thee.

b. 14002007
Sol. 14,002,007 — Fourteen million two thousand seven

c. 16254893
Sol. 16,254,893 — Sixteen million two hundred fifty-four thousand elght hundred ninety-three.

(Do remalning parts yourself)

Q2. Write the following as numerals. Also write them in their expanded form.
a. Forty lakh five thousand thrgg_hundred seven.

sol. Numeral: 40,05,307
Expanded form: 40,00,000+ 5,000 + 300+7

b. Seven million seven thousand seventy-seven.

Sol. Numeral: 7,007,077
Expanded form: 7,000,000 + 7,000+70+7

(Do remaining parts yourself)

My Practic Time 7

ite the Roman Numerals for the following numbers.

Q1. Wr
a.57 - LviI
b, 94 - XClV
c.134 - CXXXIV
d.579 - DLXXIX
e. 171 - X1
- CCOXXIV -

f. 324




g 2012 - Mwxi
h. 1170 - MOX
13521 = MMMDXX

Numerals.
Q2. Write the Hindu-Arablc numeral for the following Roman

a. vl = 36

b, LXOXX] ~ 8t

¢ XUX ~+ 49

e. DEXIV -~ 614

f. Cxxx[v - 134

8. DCOXXIX -~ 729

h. DCCeLn - 853

l. MDLX)| - 1,562
Q3. Solve the following,

a, CDIll + CMXXIX = MCCexXxxil
b. LXXV1 + DL = DCXXVI
c. DCCCXIX + XXXIX = DCCCLvI
d. LXIX - xv11 = Ll

e. CDI-Xcvii = ccav
f. MXXIV - DCOXxIv CcC

[Check your performance by solving t

he worksheet {pg 15)]



! | . '

My Practice Time 1

Q1. Add the following,
a.6,02,37,141 + 2,97,10,353

Sol. 6,02,37,141 + 2,97,10,353
=8,99,47,494

b.6,21,58,211 +2,11,50,863
Sol. 6,21,58,211 +2,11,50,863
=8,33,09,074

(Do remaining parts yourself)

Q2. Add.

a. 40 +6,54,321 + 489
Sol. 40 + 6,54,321 + 489
= 6,54,850

b, 608 +5,12,39,651 + 3,232
Sol. 608 +5,12,39,651 + 3,232
=5,12,43,491

(Do the remaining parts yourself)

Q3. Fill in the blanks.

a.7,09,801 +_4,56,179 = 4,56,179 +7,09,801

b. (10,256 + 78,934) + 10,04.006 = 10,256 + (78,934 + 10,04,006)
c. 12,00,498 +1= 12,00,499

d._ 156,325 +0=156325

e.7,26,531+ 32,159 = 32,159 + 7,26,531

f2,63,241+_0 = 2,63,241

Q4. Find the missing digits.
a.

ey 4 3

+1 7 8
B9

(Do remaining parts)

Q1. Subtract the following.
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7 :
> YER T R

(Do remalning parts)

Ing.
Q2. Fillin the missing diglts In the followlng

T 0
. o h H
| - 1 2 \l L T(rih T5 8 5 9
9 n ‘2 5
L8 17 ]9 i
et IR T 1 RO I L
(Do remalning parts yourself)

Q3. FillIn the blanks,
3.2,36543-0= 236,543 ,
b, 1,21,695.- 121695 = 0
€. 12951312~ i= 1,29‘51,311 .
d. 2,64,132 - 264132 = 0
€.98,19,567 - 1 = 98,19,561
f 6,21,34,341 ~1= 6,21,34,340 3

My Practice Time 3

Qi Multiply the followlng .
2.40,569 x 21

Sol, Multiply 40,569 by 1 (ones place);

40,569 x 1 = 40,569

Muttiply 40,569 by 20 (tens place):
40,569 x 2= 811,380

Add the ty,q results:

40,569 + 811,380 = 852,969
S0, 40,569 x 21= 852,969,

C. 6,547 x 7,456

Sol, Mulﬁply 6,547 bys (thousands place of 7,456);
6,547 x 6= 39,282

Mulﬂply 6,547 by 50 (hundreds place of 7,456);
6,547 x 50= 327,350

Mulﬂply 6,547 by 400 (thousands place of 7,456);
6,547 x 400=3 618,800

2

Multiply 6,547 by 7,000 (tens of thousa
6,547 x 7,000 = 45,829,000

Add the four results:
39,282 + 327,350 + 2,618,800 + 45,829,000 = 48,846,832
So, 6,547 x 7,456 = 48,846,832. .

nds place of 7,456);

f.2,631 % 122



Sol. Multiply 2,631 b

) 2
il ¥ 2 (ones place of 122);
Multiply 2,631 b

y 20 (ten

2,631%20=52,620 fertcn o .
Multiply 2,631 b ;

h y 100 (hu
ki 253,100( ndreds place of 122);
Add the three results:
5,262 + 52,620 + 263,100 = 320,202
So, 2,631 x 122 = 320,202,
(Do the remaining parts yourself)

Q2. Fillin the blanks.

a, 1,245x_9,876 =9,876x1,245.
b. _1 x41,206 = 41,206.
c.7,89,451x_0 =0.
d.15,261x_1 =15,261
e.2,134x_1,261 =1,261x%2,134,
£,15,925x0=_0 .

Q3. Multiply the following.

a.4,135x100=
Sol. To multiply a number by 100 put

. 4,135%100= 4,13,500

two zeroes to the right of the pumber

b. 3,860 % 10= :
Sol, To multiply a number by 10 put oné sero to the right of the number

+.3,860% 10= 38,600

c. 9,187 x 1,000 =

Sol. To multiply @ numbe he right of the number
9,187 % 1,000 = 91,87,000
(Do remaining parts yourself)

r by 1000 put three zeroestot

My Pra Time 4

Q1. Divide the following and also verify your answer.

a. 3,246+ 120 s
+120=27 and remainder b
o t by the divisor and add th

Verlfication: To verify, we multiply the quotien

120%27+6= 3,240+6= 3,246.

So, the division Is correct.

e remainder:

b. 4,126 % 168
der:

sol. 4,126 168 =24 and remainder 94.
Verification: To verify, we multiply thg quo

tient by the divisor and add the remaln



1
SSB X28 494 . 4,032 +94 = 4,126,
0, the division Is correct,

€ 1,265+ 100

Sol. 1 265 *’1 100 |
"9+ 1,100 = 1 ang remalinder 165. emalnder:

Verfﬁcaﬁon: To Verify, we Multiply the quotient by the divisor and add the r

1,100x 1 4 165=1,100 + 165 = 1,265,

So, the division jg correct,

Q2. Fill in the blanks,
8.32,685 + 32,685 =1,
b. 0 456 =9, 1
€. 1,023+ 1,023=_4 .
d. 3,656 + 1 = 3?65‘6.
€12,173 + 12,173 =1,
126,534+ 26534=_1
8.0 _+98432-9
h.41,273+ -1 =41273

Q3. Fillin the table,

Quotient Remainder

. 437+ 10 43 :
) 64,879 + 1,000 64 L
(Do remaining parts yourself)

My Practice Time s

Q1. What should be added to 34,76,415 to get 67,43,109?
Sol. Let the no. to be added to 34,76,415 pe X :
- according to question,

34,76,415 + x = 67,43,109

=x=67,43,109 - 34,76,415

=x=32,66,694

Hence the required no s 32,66,694

Q2. What Is the result obtalned when 24,16,038 Is added to the sum of 41,96,230 and 77,41,9067
Sol. 24,16,038 + (41,96,230 + 77,41,906) )

= 24,16,038 + 1,19,38,136

=1,43,54,174

Q3.4,56,496 coples of a book were printed. Out of these, 8,096 coples were dlstrlbu.ted as
c:)mpllmentary copies and 2,89,917 coples were sold. How many coples were left with the
publisher?

Sol. No. of copies of books printed = 4,56,496

Books distributed as complimentary copies = 8,096

Copies of books sold = 2,89,917
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eclty = 2,91 026+ 8,06,157 +1,03,471 -
=12,00,654 children |

Q5. A basket has 1,465 raspberries, What Wi

Sol. No. of raspberries in 3 basket = 1,465

. No. of raspberries in 57 such baskets = 1,465x57
= 83,505

ill be the nNumber of raspberries In 57 sych baskets?

Q6. (Do it yourself)

Q7. A mineral water factory fills 1,453 bottles of one litre capacity per ;\our. How many;botthes of
mineral water wil| be filled by'the factory In 124 days, If the factory works 9 hours a day?
Sol. No. of bottles filled In one hour = 1,453
No. of hours 3 day the factory works = g
* No. of bottles filled In 124 days = 1,453 x (124 x 9)
" =16,21,548 bottles

Q8. Mr Neera] bought a new car for % 8,68,417 and Ms Manju bought a car for X 5,74,398. What Is the
difference In the prices of the two cars?

Sol. Price of Mr NeeraJ’s car =X 8,68,417

Price of Ms Manju’s class =% 5,74,398

- Difference In the prices of the two cars =R 8,68,417 - X 5,74,398
=R 2,94,019

Q8. Find the product of greatest 3-diglt number and smallest 5-digit number.

Sol, Greatest 3-digit number = 999
Smallest 5-digit number = 10000
Product of the two = 999 x 10000
=99,90,000 : -
Q10. There were 10,75,350 people living In a city. 4,16,537 people left the city because of floods. After
the water receded, 4,46,472 people came back to the city. How many people are there in the city

now?
Sol. Total no. of people In the city = 10,75,350
No. of people who left the city because of floods = 4,16,537
No. of people who came back after the water receded = 4,46,472
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' No. of people In the city now = (10,75,350 - 4,16,537) + 4,46,472
= 6,58,813 +4,46,472
= 11,05,285 people

Q11. (Do it yourself)

Q12. Saumya earns 34,890 every month and her brother earns X 14,588 more than her. Find the total

amount of money earned by both of them In a year and also how much more Saumya’s brother
earns compared to her, in a year?

Sol, Monthly earning of Saumya = %34,890

.. Yearly earning of Saumya = X34,890 x 12 = ®4,18,680

Monthly earning of her brother = %34,890 + X 14,588 = 49,478

"+ Yearly earning of her brother = 849,478 x 12 = %5,93,736

Total money earned by both of them in a year = 5,93,736 + %4,18,680
- =R10,12,416

Amount Saumya's brother earns more than her = X5,93,736 - ®4,18,680

: =%1,75,056

Q13. A carton contains 164 packets of cornflakes.

a, How many packets of cornflakes can be packed In a day If there are 1,550 cartons?
b. How many packets can be packed in a week If all the days are working?
Sol. a. No. of packets of cornflakes a carton contains = 164

No. of packets packed in a day in 1,550 cartons = 1,550 x 164

" =2,54,200 packets
b. No. of packets packed In a day = 2,54,200 packets

- No. of packets packed in a week if all days are working = 2,54,200 x 7
=17,79,400 packets

Q14. Rajveer has 2 baskets contalning 12,652 fruits. How many fruits does each basket contain,
assuming that the two baskets contain equal number of fruits?
Sol. No. of fruits In 2 baskets = 12,652

+ No, of fruits in each of the basket = 12,652 + 2
=6,326 fruits

-

Q15. Mandeep’s factory has to deliver 49,192 toys in 26 months. How many toys have to be produced
each month to smoothly complete the order?

Sol. No. of toys Mandeep’s factory has to deliver in 26 months = 49,192 toys
% No. of toys to be produced each month to smoothly complete the order = 49,192 + 26

=1892 toys

My Practice Time 6

Q1. Estimate the sum or differences of the following by first rounding off the numbers to the nearest
10’s, 100’s and 1000's.

a. 26,54,321 + 12,65,422



C——

sol. Nearest 10s: 26,54,320 + 12,65,420 = 3 919,740

Nearest 100's = 26,54,300 + 12,65,400 = 3 9]19 7(30

Nearest 1000's = 26,54,000 + 12,65,000 = 3 912) 000
’ = ]

d. 89,43,125 - 69,54,347

Sol. Nearest 10's: 89,43,130 - 69,54,350 = 19,88,780
Nearest 100’s: 89,43,100 - 69,54,300 = 19,88,800
Nearest 1000's: 89,43,000 - 69,54,000 = 19,89,000
(Do remaining parts yourself)

Q2. Estimate the product of the following by first rounding off the numbers.
a. 4,261 x 123 (to the nearest 10's)
Sol. Rounding off the given numbers to nearest 10’s we get,
4,261=4260 and 123=120
4,260 x 120 = 5,11,200

¢. 2,144 x 3,005 (to the nearest 100’s)

Sol. Rounding off the given numbers to nearest 100's we get,
2,144 =2,100 and 3,005 = 3,000

2,100 x 3,000 = 63,00,000

d. 3,615 x 2,312 (to the nearest 1000’s)

Sol. Rounding off the given numbers to nearest 1000s we get,
361524000 and  2,312=2000

4000 x 2000 = 80,00,000

(Do remaining parts yourself)

Q3. Estimate the product of the following by rounding off the numbers as directed.
a, 26,525 +28 (rounded off to the nearest 10's)
Sol. Rounding off the given numbers to nearest 10’s we get,
26,525 = 26,530 and 28=30
26,530 + 30 =884 and 10 remainder

b. 65,812 + 175 (rounded off to the nearest 100's)

Sol. Rounding off the given numbers to nearest 100’s we get,
65,812 = 65,800 and 175=200

65,800 + 200 = 329 ‘

¢. 30,769 + 763 (rounded off to the nearest 1000's)

Sol. Rounding off the given numbers to nearest 1000's we get,
30,769=31,000 and 763= 1000 :
31,000 + 1000 = 31

(Do remaining parts yourself)

[Check your performance by solving the worksheet (pg 35)]
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Class 5th.

Lesson no. 1 History of computer

Tick (\) the correct option.

In which of the following early calculating
done in such a way that the product and quotient 0

obtained easily?

a) Napier's Bones
b) Pascaline
c) Analytical Engine

Ans) a.

ment of sticks is

- lace
devices, the p mbers can be

f l[arge Nu

He invented a mechanical calculator.

a) Blaise

Pascal

b) John Mauchly
c) Charles Babbage

Ans) a.

It is designed by famous English Mathem

a) ENIAC

b) Analyt

ical Engine

¢) UNIVAC

Ans) b.

It is the first computer which can

a) UNIVAC
b) ENIAC
¢) Both a) & b)

Ans) a.

atician Charles Babbage in 1834.

handle both alphabetic and numerical data.

Name the component that was used in the second generation of cémputers.

a) Integrated circuits
b) Transistors
c) Microprocessors

Ans) b.
Fill in the
Internet ,

blanks.
Second,

First, Herman Hollerith, Charles Babbage

invented Difference Engine.



| R | Sm_——— %
- ——— Inventeq Tabulating machine in 1890 <

The peri
od 19 , . ,
of CoMputers 40 to 1956, roughly considered as the period of the generation

The
—— J€neration computers were developed by using transistor

~ technology,

Co
MpUters can be connected to form a global network called

Ans
| ) Charles Babbage, Herman Hollerith , First, Second, Internet.

State True or Fajge

Earl , .
Yy man used to count with the help of stones, fingers, etc. ( true )
Abacuses are not in use today. (False)

The Step Reckoner ex . ) o
, panded on Pascal's id d
flepeated addition and shifting. ( true) BB EIC CamURleon by

The third generation computers were developed by using microprocessor
echnology. (False)

=i

 he fifth generation of computers have the power of human intelligence and
easoning.(false)

by TP T |

Match the following.

First Generation. a) Microprocessor
Second Generation. b) Artificial Intelligence
fh-ird Generation. c¢) Vacuum tube
Fiourth Generation. d) Integrated Circulits
FEfth Generation. e) Transistors

Ains) C, e, d: a, b

destion Answers

|



N N CRr,

A, ey . .. SSEPppr -
Eep Reckc’ner was a mechanical calculator that could perform addition,

rnathrac’u0l_1,_multiplication, and division. It was invented by the German

{ ®matician Gottfried Wilhelm Leibniz in 1673.

iQz) What are

= the features that Charles Babbage used in the Analytical
Engine? | -

The Analytical Engine, designed by Charles Babbage in the 19th century, was
@ conceptual mechanical general-purpose computer. |t featured:

{

An arithmetic logic unit (ALU) for performing calculations
Control flow mechanisms using punched cards
Memory for storing data and instructions

» Input and output mechanisms

% The ability to execute conditional branching and looping
93) Tabulate all the five generations of computers based on technology.

Generation. Time Period. Technology. Example
"/ }

4

First.  1940s-1950s. Vacuum Tubes ENIAC
S

Second. 1950s-1960s. Transistors.  IBM 7090
'4
Third.  1960s-1970s. Integrated Circuits IBM 360

Fourth.  1970s-1980s Microprocessors Intel 4004

|

 Fifth 1980s-Present ~ Al.  Supercomputers,
(_54) How many types of computers are there? Name them.

|
Qnswer 4:

'll'here are several types of computers, gategoriz_ed based on their size,
5urpose, and power. Here are a few major categories:
|

' personal computers (PCs): Desktops, laptops, and tablets for individual yse
N :

» N S e



- Tem———

Servers: Powerful computers that provide services to other computers on a
network

Mainframes: Large. high-performance computers used by organizations for
processing large amounts of data and running complex applications

Supercomputers: The most powerful computers, used for scientific
Simulations, weather forecasting. and other demanding tasks.

Embedded computers: Small computers integrated into other devices like
cars, appliances, and smartphones.

Q5) Mention three characteristics of a computer.

Ans )Three characteristics of a computer are:

Speed: -
Computers can process data and perform calculations at incredible speeds,
much faster than any human.

Accuracy:

Computers can perform calculations and operations with high precision,
producing accurate results.

Versatility:

Computers can be programmed to perform a wide variety of tasks, making
them useful for a wide range of applications
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Class 5th

Subject English

Lesson no. 1 Topic Shuskit Goes to School.

Reading

A. Choose the right options to complete these sentences.
1.Chuskit was very happy because

Ans. b) she was about to go to school.

2. Chuskit could

Ans. c) stitch and draw well

3. Before she got her wheelchair, Chuskit used to

Ans. a) be carried by her mother.

4. Abdul told the Headmaster that

Ans. c) they should do something to get Chuskit to school.
5. Abdul studied in

Ané. a) the Government School

B. Answer these questions.

Qno.1 What did Abdul, and Chuskit's parents and grandfather say when
chuskit said she felt bad she did not study like her brother and cousins

did?
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Ans. When Chuskit said that she felt bad about not being able to go
school, her grandfather was angry and said that she knew very well that
she could not go to school and should learn as much as she could at
home. Abdul said that he understood how she felt. Her parents did not
say anything.

Qno.2 How dig these peo

ple help to make the bridge? Complete the
table.

Ans.e The Headmaster: ¢

- onvinced the teacher tomake it possible for
chuskit to attend the sch

ool.

Saw to it thatlthat everything went according to plan.

* The Teacher : divided the children i

nto groups and alloted work to
each group.,

* Chuskit's parents : served hot tea and biscuits to

peolple as they
worked.

Qno.3 Describe in detail how Chuskit's dream to go school came true.

Ans. Chuskit was able to go to school because of the efforts of Abdul,
the Headmaster and the teachers. Abdul spoke to the Headmaster, who
was able to convince the teachers that they should make a special road
from Chuskit's house to the school, so that she could come to school on
her wheelchair. The teachers divided the school children into groups to
make the road. The Headmaster supervised and the road was made for
Chuskit to use.

* Using Grammar
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A. Complete this paragraph with suitable articles.

I would like to tell you a story. The story is about a little girl who
wanted to climb a mountain. She asked the people who lived close t0 @
mountain to help her climb it. The people told her that a mountain was
too high to climb. The girl said that she was not worried about the
trouble she would have to go through to reach the top of a mountain
she wanted show the world how brave she was.

B. Complete the table.

Positive comparative superlative
1.big bigger biggest
2. Smart smarter smartest
3.Strong stronger strongest
4.Exciting more exciting most exciting
5.Polite more polite most polite

C. Complete these sentences with the right from of the adjectives in
brackets.

1. The story Grandfather told the children was funniest (funny) than the
one he told them last week.

2. Stobdan is shorter(short) than Chuskit.
3. The amchi is the hardworker (hardworking) man | know.

4. Is this wheelchair more expensive (expensive) than that one?
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5.Leh is the most peaceful (peaceful) place in the world.

6. It is not easjest (easy) to find seashell in Leh.

* Using words

A. Choose the most suitable meaning of these words and phrases.
1. With ease

Ans.b) without any problem

2. Fundamental rights

Ans. b) basic freedom or rights

B. Match the words in column A with those in column B.
lasoldas -~ b.the mountains

2. as hard as a. a rock

3.asbraveas e.alion

4,asslowas  c.asnail

5.as quietas d.amouse

C. Match the phrases in column A to their collective noun in column B.
1.aclassof  c)student

2.apackof  e)wolves

3.afleetof  d)cars

4,anarmyof b)ants

5.abandof  a) musician
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Poem : A Pocketful of Sympathy
Understanding the poem
A. Choose the correct options.
1. What can some sympathy do?
Ans. a) stop a scratch from stinging

2. What does a pocketful of sympathy cost?
b. absolutely nothing,

B. Answer these questions.

Qno.1 According to the speaker, what can a pocketful of sympathy help
with? Name any two.

Ans. According to the speaker; a pocketful of sympathy can help with
the following things :

* Can stop a scratch from stinging.

* Can stop a bruise from turning black and blue.
* Can stop a heart from hurting.

* Can catch a falling tear.

Qno.2 How is sympathy ' wonderful'?

Ans. Sympathy is wonderful because it costs nothing and canstop a
scratch from stinging, a bruise from turning black and blue, stop a heart
from hurting and can catch a falling tear and helps in lessening the pain.

Topic : Thunder Cake
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Lesson no. 2

Reading

A. Choose the right options to complete these sentences.
1. The child's grandmother lived in

Ans. d) a farm in Michigan.

2. Although the child loved visiting her grandmother, she was scared of

Ans. b) the sound of thunder.

B. Fill in the blanks with the ingredients the grandmother collected for
her cake as the storm drew closer.
When the thunder was ten miles away, the grandmother asked the

child to gather eggs. Once the storm was nine miles away, she went to
old Kick Cow and got some milk. When the storm was eight miles away,

she asked the child to get chocolate, sugar and flour.Finally, when

storm was six miles away, the grandmother asked for overripe

tomatoes and strawberries, which were the secret ingredients for the

cake.
C. Rearrange the sentences in the order in which they look place in the

story.
1. The grandmother noticed that the child was scared.

2. The grandmother told the chil
3. The grandmother tried to keep the child busy by asking her to get

different ingredients for the cake.

4, The grandmother mixed all the ingredients of the cake.

d that they would bake s Thunder cake.
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3. The chilg never feared the sound of thunder again.

D. Read these sentences from the story and answer the questions that
follow,

1." Unless you let go of me, we won't be able to make a Thunder cake
today! "

a. Who said this and to whom?
Ans. Grandmother said this to the child.

b. Why was the person being spoken to holding on to the speaker?

Ans. The person being spoken to was holding on to speaker because
she was scared of the thunder.

C. Why did the speaker wish to make a Thunder Cake?

Ans. T he speaker wished to make a Thunder Cake to divert the child's
attention from the thunder and keep her busy in an engrossing activity.

2." When you hear the thunder, stop couhting. That number is how
many miles away the storm is. Understand? " She asked. "We need to
how far away the storm is... "

a) Who is the speaker of these lines?
Ans. The grandmother is the speaker of these lines.

b) They would know by starting to count after the flash of lightning to
the sound of thunder. The storm was as many miles away as the
number they had counted up to.
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€) Why did they need to know how far away the storm was?

Ans. They need to know how far away the storm was SO that they could

Make the cake and put in the oven before the storm came.

3. "Brave people can't be afraid of a sound, child, " she said as W€

spread out the tablecloth and set the table.
a) who said this?
Ans. The grandmother said this.

b) Was the person being spoken to a brave person?

Ans. No, the person being spoken to was not a brave person because

she was afraid of the storm.
c) What made the speaker think that the child was brave?

Ans. The grandmother encouraged the child to be brave. She convinced
her that she was brave because she went out of the house while it was
thundering to get the ingredients for making a thunder cake.

Using Grammar
Fill in the blanks with the right reflexive pronouns to complete these

sentences.
1. Maria saw herself in the mirror.

2. The kitten tried to bite me, but bit himself by mistake.

3. | taught myself to play the guitar.

4. The boys helped themselves to the samosas.



3. There are plenty of cakes here. Boys, help themselves.

6.My father cut himself when he was shaving.

Poem : The Dark

Answer these questions.

Qno.1 In the first stanza, the speaker compares our fear of the dark to a
dangerous dog.

Pick out the phrases that bring out this comparison.
Ans, The phrases that bring out this comparison are ;
Doesn't bite, doesn't bark, chase old ladies, steal sweeties.

Qno.2 What,according to the speaker, are the good points about the
dark?

Ans. According to the speaker, the good points about the dark are:
* It is cosy, still and calm. |
* Never does any harm
* Let us have some privacy.
* Gives us time to sleep.
* Gives us time to think.

» Provides us a place to hide or weep.
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